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$ ruby calcp.rb
? -2~ (34)

type "Q" to quit. = -2417851639229258349412352
? 47273

2 2n3 = 65536

=8 ? -4n(2n3)
= -65536
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¥1,¥2 ... ¥n
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#5ll: regexp("Hello to the the world", /(¥w+ )¥1/)
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class Calcp
prechigh
right “~°
nonassoc UMINUS
left =** /"
left "+7 "-*
preclow
rule
target: exp
| /7 none */ { result = 0 }

exp: exp "
exp "
exp "

" exp { result += val[2] }
* exp { result -= val[2] }
" exp { result *= val[2] }
exp “/" exp { result /= val[2] }
exp """ exp { result **= val[2] }
(" exp ")" { result = val[1] }

-7 ex =UMINUS { result = -val[1] }
NUMBERn\
BETYT

SN %1+
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® Ruby D K32, ** TREFEXRTIZIL,
scanner [ LEELANE

class Calcp

case str "'ﬁ‘;‘;g“,”_
when /¥A¥s+/ nonassoc UMINUS
when /¥pA¥d+/ e
@q.push [:NUMBER, $&.to_i] prectow
when /¥AY*¥*/ e et o
h@q.?ushl[$§. $&] | 7* none */ { result = 0 }
when /¥A.|¥n/o0

exp: exp "+* exp { result += val[2] }

s = $& exp *-* = val[2] }
exp "** val[2] }
engq-pUSh [s. sl exp /* exp { result

exp "*** exp { result **= v;
*(" exp *)* { result = val[1] }

- exp =UMINUS { result = -val[1] }
NUMBER

EHDBA

& EREFHLELES
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® LYHAT  HRAXER (exp) EFFNIEERT S
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® RubylZIF/ Ny a kb Hd, CHIEEF,

rule

target: exp

| assign
I 7 none */ { result = 0 }

exp "+ exp { result += val[2] }

exp "-" exp { result -= val[2] }

exp "*" exp { result *= val[2] }
/

exp "/ exp { result /= val[2] }
exp """ exp { result **= val[2] }
(" exp ") { result = val[1] } EHICA-STLSIE
- exp =UMINUS { result = -val[1] } EEHERIOEOTK
NUMBER B REEDLEEIL,
IDENT {|result = do_varref( val[0] ) } exception%i%ﬁ

assign : IDENT "=" |exp { result = do_assign( val[0], val[2] ) }

end

HOfEE. ERRITANS

Defaultd 7o a1 { result = result }.
{result = val[0] }(LHICRIERE) THD

/ inner®£EEIZAND
--—- inner
Hash(=9" 224U THIHIE
def initializ/

@vtable={}

RubyD L o RILBDT—4HK BT
end /

def do_assign( vname, val )
@vtable[ vname ] = val
end

EANITLRERICGDNTHF
def do_varref( vnany/

@vtable[ vname ]“or
raise( ParseError, "unknown variable #{vname}" )
end
ExceptionZH4ES€ 5

---- footer

parser = Calcp.new
puts
puts “type "Q" to quit.*
puts
while true
puts
print *? ~
str = gets.chop!
break if /gq/i =~ str
begin
puts "= #{parser.parse(str)}"
rescue ParseError
puts $!
end
end Exception ParseError 52H1%

Exception® A%
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@ Ruby [FEHRICEALEN=H, ZLT. SE-TLVDE
BIZHEMNGN o HERBOAEFREET AL, &
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@ scannerDZEETT L
CIICERERBEAND

case str ZZIT XFHILTR
when /¥A¥s+/ /yll\ﬁﬁi%ﬁ’\@“ﬁ?ﬁ
when EANnD
@q.push [:NUMBER,[ |
when /¥A¥d+/
@g-push [:NUMBER, $&.to_i]

Ruby ## &

@ B BEROEMN-HIER
@ push AYYFZEFEALT. BAIICEREEMTHIEN
TEd, irb(main):001:0> a = [1,2,3,4]
=>[1,2,3,4]
irb(main):002:0> a.push(10)
=>[1, 2,3, 4,10]
irb(main):003:0>

@ pop AYYREFEALT. BEIDREDEREMYH T
CENTED

irb(main):003:0> a.pop
=>10
irb(main):004:0> a
=>11, 2, 3, 4]
irb(main):005:0>

Ruby ffi&: 7/\vwia

@ BINTIE AT VIRERAVNTEREEET H./\Y
AT F—EFENSLDERAVWTERZRET

° irb(main):001:0> h = Hash::new

=>{}

irb(main):002:0> h[‘'apple’] = 150
=> 150

irb(main):003:0> h['banana’] = 200
=> 200

irb(main):004:0> h['lemon'] = 300
=> 300

irb(main):005:0> h

=> {"apple"=>150, "banana"=>200, "lemon"=>300}
irb(main):006:0> h['apple’]

=> 150

irb(main):007:0>




